ADRELE

= 1TE REERTE
A BHiE ITERS B2 TERNS
108 (CK) PNEERZLES & R
4 228 () SEMHE R (Z24) 108 (K) REELNS
238 (k) SEBHE R (R4)
TH(K) FELOEDOED
28 (&) SHERE RS (E4)
5 78 (K) SEBHE R % ()
2380 (%) {OAEEHM (ZE4H)
308 (%) FBETCUAIEEIET
2H(H)~6H(2) |BABKS(ZH)
9H(A)~13H(£) |EAZ
6 | 168 (A)~208(2) [BEABKS(EH)
260 (K) BESM  BIEELIE
18K T—ILERE o)
78(A) t4 G,
7 118 (2) RAYAE DL RNz S
188 (%) FECELE 12HRER
s 18 (&) FBECUAIZEIET
1B (R) BRECCLE 2ZEIGER
9
TH (k) EES (HR) (MKIBE o= %
BESM RV ED) o
28 (K) EHS (R FHE o~
38 (%) FETVAIEEIET
30H (k) ER-HERY | .9
LR
=109 e
1 | nBEQO~1aB @) |BEERS GRE)
18H(K)~21H (D) |HLBHL @M
128 (%) ERRR= (HR) EEERE R ER
BESMGR-H-V &)
16B(K) ~19H () |HLBHS (EH)
12 248 (5K) PELAE
250 (K) BECELE 2HRER b 4
Bl b
6H () FEDDOEL KEERE RS
138 () DECELE st
1 198 (A)~238 (%) |[FEBH(ZM)
3H () o REs @
3H () [ PES CEE 7
108 (K) BANE
3 198 (K) ZEKX- TR

*HERPYMEY) TBREHEE. @EFHIE. BLIREETE TVET,

*TEOBEENEETIEELHYET . TORFI 7RIS,



